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121. The extent of Physisorption of an absorbate increases with :
(1) increase in temperature
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(2)  decrease in surface area of the adsorbent
(3) decrease in pressure of adsorbate
decrease in temperature
o ©8Fh8c Sws) P8 ©dTHwo 80d FAET BIE® 1LHE0S :
1) & Dothde -
(2) aéﬁ‘a&s’o as0dy Irogand® Sehde
085080 LESSE® Shde
oW HES® S

122. Which one of the following statements is not correct ?

(1)  In the Dewar’s method for the separation of noble gases, activated coconut
charcoal is used.

(2) Krypton is used in miners cap lamps.

(3) _The electron affinity values of noble gases are nearly equal to zero.
Xenon gives different colours when mixed with mercury vapour.

808 ISCwmed® DO SBELSE oEH?

1) Bavb 586° aesg,.gai FobHosh IHiEHes adas S‘r.:aﬁ 5o
& S@EO D

(2 &S #IE° =d E°00 pond® SIREAF®
@)  ad s sohgpe aea\;.s S DewdSer HSrEHe WeIgs.
W APSSH DEYgs FHSNE® FOLS DAY GomhedH AHEHH

123. A chemical reaction cannot occur at all if its :
o SPaHE €0y o8 edHg mgga £
AH is (+)ve and AS is (-)ve _
@) AH is (ve and AS is (+)ve | OR >
AH and AS are (+)ve but AH > TAS
(4) AH and AS are (—)ve but AH > TAS
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124. Which one of the following statements is true for the optical rotation exhibited

by (2R, 3R) and (28, 3S)-dibromobutanes ?
(1) _ The direction and magnitude are same

The direction is opposite, but magnitude is same
(3) The direction is same, but magnitude different
(4) Both the direction and magnitude are different
(2R, 3R), (28, 33)-2@‘%&3"&:5& (E&58)0i FysSm Fhewed8 Sowodod, 808
AFmed® 28 55@&:‘56?
(1) &% S0sSrsver Sadrsasn
N?;)/ﬁe' obsSvpdy 0 SO0Svedy Sedsn
(3) B8Y Saesan, o0 H0Srceds FH
(4) &% SoSrmdsves Todr I

125. In a reversible reaction at equilibrium the net heat change of the reaction
o
(1) Positive (2) Negative
Zero (4) Cannot be predicted
w¥ B8 SYE” SNeedd SE SOy wdME® JE Sy
(1) S &80 ' 2) 'emmé&é’o
S (4) DF LS IXEeos
126. Which one of the following is not correct ?
(1) Oxygen shows +1 oxidation state in O,F,.
. (2) Roasting removes volatile impurities like As and Sb.
®y”" Sm® is pink in colour, |
(45 Cobalt chloride acts as a catalyst to decompose bleaching powder.
B0 Novelds ISCoed® 8 SOBDIE E?
1) O.F; 6° e8ud scsrmy ehysn 8 +1
() As &0c% Sb Jodf grHOTe IS BaHE® Adrgdon
B8 Sm®* e Cothd EDAGROHS
4) ooy SrfEn ISrEISEEE ForEiTed adssino ST
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127. * The correct order of pH of solutions of CuSO,, NaCN, NaCl and water :
Qs MEaw CuSO,, NaCN, NaCl oe&fmre $0cks pH (o 287
(1) CuSO4 < NaCN < NaCl = H,0
(2) CuSO, > NaCN = H,0 > NaCl
3) _CuSO, = Hy,0 > NaCN > NaCl
CuS0, < NaCl = H,0 < NaCN
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128. Which one of the following is not a method for preparing chloroform ?
() Heating ethyl alcohol with chlorine and alkali
(II) Heating acetone with bleaching powder and water
(IIT) Heating chloral hydrate with aqueous sodium hydroxide
(IV) Distillation of acetone over iron filings and water
Bod &=RE°, 28 6% Suroddn 68 w?
M &3é Eé‘ﬁb.aﬂfé-éo 5“&5 gore8® 3&30‘&:56
) on&*Ss% &0 26, b DES08® Isdavdo
(IID) &% ?Jv@ies_aﬁ F8ovo I EBE soErSwos® Iadavdo
V) =68 Cak D8 Do BHFos® ANVESH &S Wovdo
O 1 @ I @ I 01V

129. Rate of a reaction can be expressed by Arrhenius equation £ = A . ¢ Ea®T I

this equation, ‘E, represents :

(1) _The energy above which not all the colliding molecules will react
The energy below which colliding molecules will not reacts

(3)  The total energy of the reacting molecules at temperature T

(4)  The fraction of molecules with energy greater than the activation energy
of the reaction

Sore e es'g.&)oﬁﬁ $Sostmsn k=A . e E®T creoe BenSSunh. e

ShsfadnE® E, 300 SrdoHs :

1) % ¥28 erdorer 800 omdpeory IOy s

( erdoren w0h wmper S ¥Wod (fod I&y wEHYH

B) T a@fs S8 S =0 owdpe Iwgo ¥§

(4) Sz GnYy eddd ¥8¥on ByS ¥ Ho emPho S

Rough Work



http:/ishigdeal.blogspot.com/

AM 2009 A
130. What is the hybridisation state(s) of the atoms in X formed in the following
reaction ?
C.HOH AL,
T
(Vapours) 260°C
N)/spa only (2) sp® and sp®
(3) sp2 only (4) sp only
Bob Sugd® 20BS X 6°2 sdSrmape Sosditm {8 (h&w).
CH;,0H A},
(gearyer) 260°C
W sp® s ) sp® Bk sp’
@) sp® SoER @) sp SoED

131. Assertion (A): The bond dissociation energy of fluorine is less than bromine.

Reason (R): In fluorine molecule, large lone pair electronic repulsions and
appreciable internuclear repulsions are present.
The gorrect answer is :
Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is not true
(4)  (A) is not true but (R) is true

AHES® (A) @ PO B wod JPes 48 BFS goyy &5y
#8edn (R) : P05 owHE® wowd ae:s;.g Bowe SHE0H ae:s;S
WImen Hdn wodBoEy VPmes AV

SO E merwn :

(A) 5805 (R) & Todr Jman, (A) & (R) $681S dSow=
(2)  (A) $0a% (R) o Todre Jwss, = (A) % (R) 6@ IS6w &
3) (A) Quan =R (R) Jusn =&
4) (A Qesn ==& =0 (R) dusw

Rough Work
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132. With increase in Principal Quantum number n, the energy difference between
adjacent energy levels in Hydrogen atom :
(1) _ Increases
(2)/ Decreases
(3) Remains constant
(4) Decreases for lower values of n and increases for higher values of n
BErS wgoud Sopg n, BHMHELE e, TE°eS SodrmpEt Sds ¥
&wa Sy ¥86° Bae
(1) m&(ﬁé‘&oﬁ
@ stomon
(3) anom B0
(4) 6502,.5 n Jendosy &0, 6)506.5 n dendols 2h&Ecd
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133. Which of the following reactions of acetic acid involve C—OH bond ?

(I)  Action of Na (I1) Formation of acid chloride
(ITT) Action with NaHCO,4 (IV) Formation of an ester
Bod ABEE eb Joged®, IdabesH C—OH wofsn &7 SH?
() Na &° ::Sdg (I a%& 5“"65 B‘Jmae..:é"
(Il) NaHCO4 & &g (IV) a5 o)cvawé"
1 LI (2) I, III 3 I, 1V 1, IV
134. Which of the following reactions yield elementary gases like Ny, Hy, O, as the
byproducts ?
(808 $8306” Ny, Hy, 0p o |@r@ sraushoh eohederarmr aesdod
Stgen AD?
Fe
(I)  CuO + NH4 2 (II) 2NHg + 2Na 300-400°C
(III) 8NHg + 3Cly, - (IV) 2Pb(NQy), —
(1) T and II only (2) I, III and IV only
(3 I, II and III only All of these
(1) I ook IT Sogad S’VI Il &Hoa%e IV &mEd
@ L I Soat I SrE 29 edyan

Rough Worl_x
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135. Assertion (A) : The probability of finding an electron in a small volume

around a point (x, y, z) at a distance 7’ from the nucleus is
proportional to \pz '
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Reason (R) : Subatomic particles have both wave and particle nature.
The correct answer is : .

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
&)/Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is not true

(4) (A) is not true but (R) is true . ’
AHES (A)  : FoEEE KHod P Brsod”t Bmedhdah |SB¥ST (v, y, 2) oFw

MreDod mom@ S8 Sy HISBErRSNE” o HH SHHI
Sogeagd, v & SO SO ELES BotheS

s (R) : SIS58Swe Soren ¥ 80 SSoNdearssng 588 aowra
OGS macen

(1) (A) 6w (R) en Qmaw (A) % (R) S0GHY DS

W/(A) S8akn (R) ev Qesn (A) % (R) 6’36@3:5 DS8m

@) (A) dmsn =R (R) dsan =

4) (A Qesv &b 0 (R) Jes» 4

136. Which of the following do not obey Huckel’s rule for aromaticity ?
Bo8 0%, Ho88 I6°5rBE Sreeedy FSoISD D2

SRR

(1) Al the above (2 o) (2 L 10
I, IV 4) I, IV

Rough Work
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137. Match the following :
List I List II
(A) *+ Nitration mixture (I) Acid flux
(B) Thermit mixture (IT) Mordant
(C) Silica (IIT) Fe,O4 (3 parts) + Al powder (1 part)
D) Alum (IV) Conc. HNOg + conc. H,SO,
(V) Conc. HNOg + conc. HCI
808 oA wSITIod : , )
@ hee | eeDa 11
(A) JIBES Do D) e G0
(B) @S o ) sSrbaed
(C) 2ow ' (III) Fe,0y (3 30%3)) + Al 878 (1 arew)
D) Do (IV) =g HNO; + re& Hy80,
(V) org HNOg + =g HCI

The correct match is :
$OHE w:

A B C
m/ v 111 I
2 IV 111 11
@ Vv 1I I :: 1K
4) V II - I

138. Match the following (¥ (808 o0 ®EIHHID)

List I (a§ 1§
(A) CH,; —» HCN
(B) CyH, —» CH4CHO
(C) C,Hy —» CH,OH
D) C,Hy; —» CoHy

The correct match is ;
S8 adSfHdhdy ¢

List II (BEE 1)
() NH;z|ALOz|1000°C
(TI) 450°C, Heating (S&Jasne)
(1) 40% H,80,, 1% HgS0,, 6°C
(IV) Cone. () HyS0,, H,0, 80°C
(V) Na, dry ether (@mg seis6), A

A B C D

\\1’/1 111 v 11

(2) I 1I v I11

@3 I IV I 11

4) V 1 IV ITI
Rough Work
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189. BaSO, is insoluble in water due to its :
(1) High hydration energy High lattice energy
(3)  High ionization energy (4) High kinetic energy
BaSO, Jd8&* xoriah. sedma :
(1) by avtéefdm ¥8 (m/'.ﬂ@ﬁ grolf ¥
@) ©8¥ sundsds ¥ @) 85 H8e %8
140. The ratio of moles of hydrogen produced when two moles of aluminium react

with excess HCl and NaOH geparately is :
Sodh drde werglobo 8y HCI NaOH o&° e Sog e

a8 fadby FriE’ade arde D43 :
N)/in @ 1:2 @ 2:1 4 8:2

141.

The correct TUPAC name of the hydrocarbon X :
@ S X 56608 IUPAC ovsosn

ZHa
- NP
H,C / H

ﬂ.)/2-Methyl-3-ethyl pentane  (2) 3-Ethyl-2-methyl pentane
(3) 3-Isopropyl pentane (4) 1, 1-Diethyl-2-methyl propane

142,

The number of o and n bonds present in l-butene-3-yne is :
1-e385-3-086° Ho 0 HOaH 1 woFsve Sowg :

7 and 3 (2) 5 and b5 (3 7 and 2 (4) 6 and 4

143,

The volume of oxygen gas liberated at 27°C and 760 mm Hg pressure when
24.5 g of KClOg is heated : (M. wt. of KCIOg = 122.5)
245 o KCIO; (wewipedisio = 122.5) & 27°C 5080 760 mm Hg 260 $8 3&3awre
Beosd 68nd ook HRISOSEas

(1) 4485t (@ 96kt M 74l @ 112 Lt

Rough Work
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144. Which one of the following statements is not correct ?
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(’l)/ The. conductivity decreases from Li* to Cs™ in the hydrated ions.
(2) The stability of +5 oxidation state decreases from nitrogen to bismuth.
(3)  In Hall’s process, bauxite is fused with Nay,CO,.

(4) The atomic radius in III A group elements increases from boron to
aluminium and thereafter remains constant upto gallium.

1808 DSCwed® Dsdn =8 JH?

ﬂ)/a-mfmd:ing wolrRes® sesg Li' o8 Cs' % St

@)  +5 sdysto D8 DSy FE'sS Hobd DHEH EHH
@ ? G n_

B & (HEWE® =5 )% Na,C0y 8° dodsn dahehed

4) HIA frd Srowed® Sosrm argddsn §%08 $H08 sergbdahbd
SE5e BB o Shard rddD IEHR RESOE BodHS

145. Which one of the following statements is not true for glucose ?
(1) oD (+)-glucose undergoes mutarotation
(2) It has four asymmetric carbons in Fischer projection formula
&1}/ It gives saccharic acid with Tollen’s reagent
(4) It reacts with hydroxyl amine
KmE°58 SowoSod (808 JSEweE® A6 Jasy w&?
(1) aD (#)-508°% 30508 wrabso DogEbod
2) o= 88 (s &m&a‘é" outh LS wHHSe @O
(B)/a;ve‘:'.g eIHE® 0§ el sdod
@) PrEedyd LS8 N6y =HHpS

Rough Work

56 S



http:/ishigdeal.blogspot.com/

| AM 2009 A
146. The base present in Cytidine :
28856° agy gos:
NH
@ > @) /
N H,N N

0 NH,
@ ‘
0 | 0
H H

The vapor of a substance effuses through a small hole at the rate of 1.3 times

147,
faster than SO, gas at 1 atm. pressure and 500 K. The molecular weight of
the gas is :
1 eemptnont La@ssn 500 K a® 8 &6 o Sargsn @8 wrss ol
Sl SoFsn Hoae SO, aeatuag So’ﬁa % 33&.-: 3ﬁa$nn= RO, @ FrESw
Anly, emgroaw.
(1) 492 w319 3) 416 (4) 832
148. Which one of the following statements is correct for H;0, ?
(1) It reduces ferricyanide to ferrocyanide in acid medium.
(2) It oxidises lead monoxide to lead dioxide ‘
It acts as a reducing agent in the decolourisation of acidified KMnO,.
(4) It oxidises hydrides of chlorine and bromine to their diatomic gases.
Hy)0, & Sowofod (806 JSsmed® JeDdd 67
(1)  eHarIHE® PPIaIES a:{_G‘;Somng Houre B0
@ 6563@&“_,35@ 86 dorg b sd 5805
e edg)d KMnO, & dfomsan Dawed® gorsodr SOJoh
(4) 5’55 Hoae B8 FTabod 8 Gysvdrm oo edyEioms
Rough Work
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149. After removing the hard shell of an egg by dissolving in dil. HCI, a semiper-

AM 2009 A

meable membrane is visible. If such an egg is kept in a saturated solution of
common salt the size of the egg will :

(\)/ shrink . (2) ‘grow

(3) remain the same (4) first shrink and then grow larger
thody S8 Dobd Sme HCIL €% 580008 of (#3938 &°¢ sdudhd.
HEHS SodyE ey ode |TSHswE” aodd e Mo S8

Ma@o&m : (2) eaps

(B) Sy Go8& (4) Swo& Boyod Sard AU

150. Barbituric acid is a condensation product of A and B. A, B are :
| oL ATHETE 8Haw A B o Sofds aenfdsn. A, B e ad?
(1)  H,NCONH,, HO,C - CO,H
(2) H,NCONH,, CICOCH4
(3) H,N - NH,, CICOCH,COCI
H,NCONH,, CIOCCH,COCI

151. Molality of an aqueous solution that produces an elevation of boiling point of
1.00 K at 1 atm pressure. (K, for water = 0.512 K. kg. mol ™)

of wemy HESSH S8 100 K wriness TS AR FuhBAD poESndn

Eo®y Swe-dd do&? (A8 K, =0512 K 8w aré))
(1) 0512 M (2) 0195 m
& 195 m 4) 512 M

Rough Work
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152. The formula of ‘spinel’ is AB,Oy, where A is ....... . ,and B is ceveeveserniins :
A | B
\,_1»)/ II A element III A metal
(2) HI A metal II A element
(3) Transition metal in +3 state Transition metal in +2 state
(4) II A element Transition metal in +2 state
"6’ emirdyor ABO, 506t A, B .
A _ B
N)/II A Svosss I A 655
(2) I A &*san II A surossy
@) +3 pBE" [oSLE O +2 LBE° HOSES ECaraw
4) I A Swroyss - +2 H88° 05T SCuay

163, The latest IUPAC name of the following compound : .
Bob Sdy¥mo @iy adyd IUPAC eesbsn:

NH,
C2H5

Br
(1)  2-Ethyl-4-bromoaniline (2-936-4-5°3= 20208)
(2)  4-Bromo-2-ethylaniline (4-&°3r-2-558 2208 )
(6)/ 4-Bromo-2-ethyl benzene amine (4-5°gre- 2-5@6 BodS o)
(4)  2-Ethyl-4-bromobenzene amine (2-3&-4-5°3~ Zodd 20:8)

Rough Work
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154. During the charging of a lead-acid storage battery, the cathode reaction is :
(1)  Formation of PbSO, 47 Reduction of Pb>* to Pb
(3)  Formation of PbO, (4) Oxidation of Pb to Pb**
86 e NES oo ‘gvﬁnoﬁ B8E® =6 =oy ¢
()  PbSO, dedow ®Pb%, Pb ¢ Fo¥beso
(3)  PbO, deyde (4) Pb, Pb™ = edyivmo

155. Which one of the following statements is correct ?
(1)  Tonic radius of Fe®" is greater than Fe>'.

(2) Atomic radius of chlorine atom is greater than the ionic radius of
chloride ion.

Electron affinity of phosphorus is greater than nitrogen.

(4)  Csy0 is strongly acidic in nature.

Bod LSsmod® 28 SBGRIS? .

(1) Fe* Qg opdsss Fo' oy o5ps

(2) §°88 Sosrom avgaﬂgain §°36 eoedy Fgrdo oy QB
geSgsn Buyy Jops 224 FEad soy S

4)  Cs0 woshd eH Sgerddnd SrHd

156. The standard potentials at 25°C for the half reactions are given against them
below : '

o8 ©f WogeR 25°C 5§ (Hrem FBIo0SE” gagesId. ;.
Zn®* + 2° - Zn E° = 0762 V
Mg? + 2° - Mg E° =237V
When Zn dust is added to a solution of MgCl, :
(1) Magnesium is precipitated (2) Zinc dissolves in the solution
(3)  Zinc chloride is formed ( No reaction takes place
MgCl, |orseed8 @of &R ¥dL3
1) hyhcho eIFLHHHod (2) |GPSwod® @oF NS0
(3) 2cf 6':35 2)636;&:0& (‘)/ED ST AH S S Yelqlnt)

Rough Work
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157. Which one of the following reactions does not occur ?
Bob S6geé® B edHc?
BaO + O3 — BaOy, + O, (2) PbS + 405 — PbSO, + 40,
@) Hy0, + 03 —» HyO + 20, (4) 2Hg + O3 — Hgy0 + O,

AM 2009 A

158. Lattice energy of an ionic compound depends upon :
(1) Charge on the ion only
(2)  Size of the ion only
(-8)/ Charge on the ion and size of the ion
(4) Packing of its ions only
ouirdl Sordan Eely sl ¥ G0 erEHs
1) oars Gul) sIFwD SvEd
2)  woedh oY) S8SmSND SeEd
@Y oot S, edvEn SHocah BoSresveD
4) oo Savdoa:'.ii Sro| B

159. In which of the following reactions, the final product is 2-methyl-2-propanol ?
Bod 2 NEg6° 2-WPE-2-FrSIE w08 aE¥ S
(i) CH;MgBr /dry ether (278 &sgb)

(i) CgHEMgBr/dry Bther ! (@‘5 63(:55)
@ CHCHO "o '
(i) CH;MgBr/dry ether (28 &8¢b)
(3/ CH4COCH, (@) Hy0" —
@ CH,COCH, (i) CH;MgBr/ wet ether A (88 Sssb)

Gi) HyO"

160. Which of the following oxides finally dissolve.in water to cause acid rain ?
DIGre ABE° $0A eHIWIE TInHH eFyber AD?

(1) NO, NO, @ NO,, SO,
3. NOj, SO, 0 N,0;, SO,
Rough Work
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